
Def la - Holder)

Let t be an integrable function on the circle and

0 cast . f- is a - Holder it 7- C > o s.t
.

I faith - tail < Clhlt ,
V-x.li

.

( Riemann - Lebesgue lemma )

It f- is integrable ,

then fin → 0 as n→as

Q : It t is a - Holder , can we say something about

the order of decay of fins ?

• It f is a- Holder
,
then Écni = Oitp)

.

• Give a counterexample to show this decay rate cannot

be improved .



• If f- is a -Holder with a > I
,

then its Fourier

series is absolutely convergent .

• It f is d-Holder
,
then Écn)=O,±p)

.
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• In general
,
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1- is a - Holder .
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The idea is

when k is small
,
I 2
""
h / is small

,
we use IsinHE 1×1
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• It f is a- Holder with a > I
,

then

ÉdÉml< is .
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step 2 : choose h -- ¥+1
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Hence
,
the Fourier series of f- is absolutely

convergent . ☐


